





1.

UTKODIAKR Instructions
Kodiak 4500-5500 Motor Home Chassis
Rear Bar

Position the vehicle on a level surface with
the front wheels straight ahead and sitting at
normal ride height. Set the brake and chock
all the wheels.

. Hold the axle bracket up to the rear end to

locate the three (3) OEM bolts that line up
to the bracket. Remove the OEM bolts and
install the bracket to the rear end with the
supplied bolts and lock washers. If the rear
end had flat washers, reuse the washers
in between the bracket and the rear end
housing. Tighten all bolts.

. Position the frame bracket onto the passenger

side frame rail and loosely secure it with the
nut plate frame bracket and the 5/8"-18 x 2”
bolts with 5/8” lock and flat washers. Loosely
install the two (2) 1/2”-20 x 1-1/4” bolts with
the 1/2”-20 jam nuts into the frame bracket.
The bracket needs to be loose enough on the
frame rail to move back & fourth to line up
with the axle bracket.

. Install the rod assembly onto the front of the

axle bracket with one (1) 3/4”-16 x 3” bolt,
two (2) 3/4” flat washers and a 3/4” lock nut.
Be sure the flat washers are on either side

of the urethane bushing. Position the frame
bracket so it is straight with the axle bracket
and rod assembly. Adjust the length of the
rod assembly until you are able to pass a bolt
thru both the rod assembly and frame bracket.
Install a 3/4” bolt, two (2) flat washers and a
3/4” lock nut into the rod assembly and frame
bracket. Leave all bolts finger tight for now.

5. Once the frame bracket is straight with the rod
assembly and axle bracket, alternately tighten
down the 5/8” bolts on the frame bracket and
torque to specifications. Then torque the 1/2”-
20 x 1-1/4” bolts to the frame and tighten the
jam nuts.

6. Torque the 3/4” bolts in the rod assembly to
specifications. Inspect for any wiring or hoses
that may rub against the brackets and secure
in a safe position with the loom and/or cable
ties provided.

l—lmlll:/Q\lﬁ)lx\,/Al./A\'Ix\‘ll//“lr—
:ll\\iu \ //ll\\‘ll\V/II'//_\\‘II\\H\\.

Brazel’'s RV Performance

3912 Harrison Ave.

Centralia, Wa 98531

Phone: (360) 736-9494 - Fax: (360) 736-9497
www.brazelsrv.com

Page 3 of 3



